

301 Jackson Street Richmond, Texas 77469 PO# 137085 BH

TEC 400354 4 1117

AVILES ENGINEERING CORPORATION

5790 Windfern Road, Houston, Texas 77041 - 713-895-7645 - Fax 713-895-7943

Invoice

Invoice Date:	02/28/17	. AEC Invoice No.:	021730C
AEC Project No.:	C121-16	Customer ID:	FTBCENG
Client: Fort Bend Co	ounty		
Fort Bend Co	ounty Engineering De	partment	
Project: FM 1093/Wes	stpark Tollway Expans	sion Project, Phase 1	
P. O. No.: 13708	5		,
Bill to:		email to):
Fort Bend County Engine	ering Department	Vanessa Wallace	
Attn: County Engineer		vwallace@pascorp.net	

	Services Provided:	Net Amount Due
Construction Mat	erials Testing and Inspection Services	\ (
on the	above Referenced Project	\$27,872.50
(See Atta	ched Page/s for Invoice Backup)	dK.30
	Subtotal	\$27,872.50
Terms: Net 30	Total Due this Invoice:	\$27,872.50
	Contract Amount:	\$300,000.00 V
	Amount of this Invoice:	\$27,872.50
	Amount of Previous Invoices:	\$116,624.78
	Amount Invoiced including this Invoice:	\$144,497.28 V
	Amount Remaining including this Invoice:	\$155,502.72 V
	Percent of Contract Complete:	48.2%

Please Remit to: Aviles Engineering Corporation 5790 Windfern Road Houston, Texas 77041 EOK to Pcy } 3/30/2017 } 11/40 } 4 Mike Stone }

Please Include Invoice Number on all Remittance. Thank You and We Appreciate Your Business.

AEC Project No.:

C121-16

Client: Fort Bend County

Fort Bend County Engineering Department

Invoice Date: 02/28/17

Invoice No.:

	Report				Unit	
Date	No.	Description	Quantity	Unit	Rate	Amount
2/1	367	Senior Engineering Technician - Min. Chg.	2	Hour	\$ 65.00	\$ 130.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/1	368	Theoretical Max. Specific Gravity	2	Each	\$ 91.00	\$ 182.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/1	368A	Extraction - Gradation	1	Each	\$203.00	\$ 203.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/1	368B	Dry Sieve Analysis of Aggregates	1	Each	\$ 54.00	\$ 54.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/1	368C	Molding Specimens	1	Set of 3	\$ 63.00	\$ 63.00
		Density of Lab Molded Specimens	1 _	Set of 3	\$ 54.00	\$ 54.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/1	368D	Hveem Stability	1	Set of 3	\$ 95.00	\$ 95.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/1	369	Senior Engineering Technician	8	Hour	\$ 65.00	\$ 520.00
		Senior Engineering Technician - Overtime	0.5	Hour	\$ 97.00	\$ 48.50
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/1	370	Concrete Compression Test	15	Each	\$ 17.00	\$ 255.00
		Project Engineer	0.25	Hour	\$149,00	\$ 37.25
2/2	371	Senior Engineering Technician	7.25	Hour	\$ 65.00	\$ 471.25
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/2	372	Concrete Compression Test	6	Each	\$ 17.00	\$ 102.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/2	373	Concrete Compression Test	15	Each	\$ 17.00	\$ 255.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/3	374	Senior Engineering Technician	3.75	Hour	\$ 65.00	\$ 243.75
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/3	375	Concrete Compression Test	15	Each	\$ 17.00	\$ 255.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/4	376	Senior Engineering Technician - OT Min. Chg.	2	Hour	\$ 97.00	\$ 194.00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$ 20.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25

AEC Project No.:

C121-16

Client: Fort Bend County

Fort Bend County Engineering Department

Invoice Date: 02/28/17

Invoice No.:

THYU	ice Date	: U4/48/1/		invoice ivo:		1/300	<i>-</i>
	Report				Unit		
Date	1 -	Description	Quantity	Unit	Rate	A	mount
2/6	377	Senior Engineering Technician - Min. Chg.	2	Hour	\$ 65.00	\$	130.00
•		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
	1	Compr. Strength of Non-Shrink Grout (Cubes)	6	Each	\$ 23.00	\$	138.00
*****	1	Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/7	378	Senior Engineering Technician - Min. Chg.	2	Hour	\$ 65.00	\$	130.00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$	20.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/9	379	Senior Engineering Technician	3.5	Hour	\$ 65.00	\$	227.50
	· · · · · · · · · · · · · · · · · · ·	Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125,00
, , , , , , ,		Project Engineer	0,25	Hour	\$149.00	\$	37.25
2/9	380	Concrete Compression Test	6	Each	\$ 17.00	\$	102.00
···········		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/9	381	Engineering Technician	6	Hour	\$ 51.00	\$	306.00
······································		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/9	382	Concrete Compression Test	6	Each	\$ 17.00	\$	102.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/10	383	Senior Engineering Technician	3.5	Hour	\$ 65,00	\$	227.50
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/10	384	Engineering Technician	2.5	Hour	\$ 51.00	\$	127.50
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/10	385	Concrete Compression Test	6	Each	\$ 17.00	\$	102.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/11	386	Senior Engineering Technician - OT Min. Chg.	2	Hour	\$ 97.00	\$	194.00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$	20.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/13	387	Senior Engineering Technician	4.75	Hour	\$ 65.00	-\$	308.75
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/13	388	Senior Engineering Technician	8	Hour	\$ 65.00	\$	520.00
		Senior Engineering Technician - Overtime	1.5	Hour	\$ 97.00	\$	145.50
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/13	388A	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$	-
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
			 				

AEC Project No.:

C121-16

Client: Fort Bend County

Fort Bend County Engineering Department

Invoice Date: 02/28/17

Invoice No.:

	Report				Unit		
Date	No.	Description	Quantity	Unit	Rate		Amount
2/13	389	Concrete Compression Test	9	Each	\$ 17.00	\$	153,00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/13	390	Engineering Technician	5.75	Hour	\$ 51.00	\$	293.25
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/13	391	Concrete Compression Test	6	Each	\$ 17.00	\$	102.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/13	392	Concrete Compression Test	4	Each	\$ 17.00	\$	68.00
		Project Engineer	0.25	Hour	\$149.00	\$	37,25
2/14	393	Senior Engineering Technician - Min. Chg.	2	Hour	\$ 65.00	\$	130.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/14	394	Engineering Technician - Minimum Charge	2	Hour	\$ 51.00	\$	102,00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/15	395	Senior Engineering Technician	6.25	Hour	\$ 65.00	\$	406.25
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	693	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/15	396	Report of Concrete Batch Plant Inspection	1	Each	\$ -	\$	-
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/15	397	Senior Engineering Technician	5.5	Hour	\$ 65,00	\$	357.50
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/15	398	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$	-
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/15	399	Concrete Compression Test	9	Each	\$ 17.00	\$	153.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/15		Engineering Technician	3	Hour	\$ 51.00	\$	153.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/15	401	Concrete Compression Test	9	Each	\$ 17.00	\$	153.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/16	402	Senior Engineering Technician	4.5	Hour	\$ 65.00	\$	292.50
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37,25
2/16		Report of Concrete Batch Plant Inspection	1	Each	\$ -	\$	
		Project Engineer	0.25	Hour	\$149.00	\$	37.25

AEC Project No.:

C121-16

Client: Fort Bend County

Fort Bend County Engineering Department

Invoice Date: 02/28/17

Invoice No.:

	Report			0.00.10	Unit	T	
Date	No.	Description	Quantity	Unit	Rate		Amount
2/16	403	Senior Engineering Technician	8	Hour	\$ 65.00	\$	520.00
		Senior Engineering Technician - Overtime	0.25	Hour	\$ 97.00	\$	24.25
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/16	404	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$	_
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/16	405	Concrete Compression Test	15	Each	\$ 17.00	\$	255.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/16	406	Concrete Compression Test	9	Each	\$ 17.00	\$	153.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/16	407	Engineering Technician	4.75	Hour	\$ 51.00	\$	242.25
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/16	408	Concrete Compression Test	9	Each	\$ 17.00	\$	153.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/16	409	Senior Engineering Technician	8	Hour	\$ 65.00	\$	520.00
		Nuclear Density Gauge	8	Hour	\$ 10.50	\$	84.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/16	410	Report Of Field Compaction Testing	1	Each	\$ -	\$	м
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/16	411	Report Of Field Compaction Testing	1	Each	\$ -	\$	-
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/16	412	Report Of Field Compaction Testing	1	Each	\$ -	\$	
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/17		Senior Engineering Technician - Min. Chg.	2	Hour	\$ 65.00	\$	130.00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$	20.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/17		Senior Engineering Technician	6	Hour	\$ 65.00	\$	390.00
	ľ	Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/17		Report of Concrete Batch Plant Inspection	1	Each	\$ -	\$	-
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/17		Report of Concrete Batch Plant Inspection	1	Each	\$ -	\$	-
]	Project Engineer	0.25	Hour	\$149.00	\$	37.25

AEC Project No.:

C121-16

Client: Fort Bend County

Fort Bend County Engineering Department

Invoice Date: 02/28/17

Invoice No.:

THAOL	ice Date:	V2/28/17		THYOICE INO.;	02	1750C
	Report				Unit	
Date	No.	Description	Quantity	Unit	Rate	Amount
2/17	417	Senior Engineering Technician	7.5	Hour	\$ 65.00	\$ 487.50
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/17	418	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$ -
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/17	419	Concrete Compression Test	9	Each	\$ 17.00	\$ 153.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37,25
2/17	420	Engineering Technician	4.5	Hour	\$ 51.00	\$ 229.50
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/17	421	Concrete Compression Test	9	Each	\$ 17.00	\$ 153.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/17	422	Concrete Compression Test	15	Each	\$ 17.00	\$ 255.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/18	423	Engineering Technician - Overtime	2	Hour	\$ 76.00	\$ 152.00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$ 20.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/21	424	Senior Engineering Technician	3	Hour	\$ 65.00	\$ 195.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/21	425	Report of Concrete Batch Plant Inspection	1	Each	\$ -	\$ -
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/21	426	Senior Engineering Technician	7.5	Hour	\$ 65.00	\$ 487.50
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/21	427	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$ -
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/21	428	Concrete Compression Test	9	Each	\$ 17.00	\$ 153.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/21	429	Engineering Technician	3.5	Hour	\$ 51.00	\$ 178.50
		Trip Charge - Vehicle and Time	1 1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/21		Concrete Compression Test	9	Each	\$ 17.00	\$ 153.00
' }		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
2/22	431	Senior Engineering Technician	5.25	Hour	\$ 65.00	\$ 341.25
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25

AEC Project No.:

C121-16

Client: Fort Bend County

Fort Bend County Engineering Department

Invoice Date: 02/28/17

Invoice No.:

	,	V2/20/17			T	1	<u> </u>
	Report	1			Unit		
Date	No.	Description	Quantity	Unit	Rate	4	Amount
2/22	432	Report of Concrete Batch Plant Inspection	1	Each	\$ -	\$	
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/22	433	Senior Engineering Technician	8	Hour	\$ 65.00	\$	520.00
		Senior Engineering Technician - Overtime	2	Hour	\$ 97.00	\$	194.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/22	434	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$	-
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/22	435	Concrete Compression Test	9	Each	\$ 17.00	\$	153.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/22	436	Engineering Technician	8	Hour	\$ 51.00	\$	408.00
		Engineering Technician - Overtime	1.25	Hour	\$ 76.00	\$	95.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/22	437	Concrete Compression Test	15	Each	\$ 17.00	\$	255.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/22	438	Concrete Compression Test	9	Each	\$ 17.00	\$	153.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/23	439	Senior Engineering Technician	4.75	Hour	\$ 65.00	\$	308.75
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/23	440	Report of Concrete Batch Plant Inspection	1	Each	\$ -	\$	
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/23		Senior Engineering Technician	7.75	Hour	\$ 65.00	\$	503.75
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/23	442	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$	=
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/23	443	Rpt of Slurry Testing on Slurry Displacement	I	Each	\$ -	\$	_
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/23	444	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$	-
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/23	445	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$	-
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/23	446	Concrete Compression Test	9	Each	\$ 17.00	\$	153.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25

AEC Project No.:

C121-16

Client: Fort Bend County

Fort Bend County Engineering Department

Invoice Date: 02/28/17

Invoice No.:

211,101		0.02/20/1/		Invoice 140.		1170	
	Report				Unit		
Date	No.	Description	Quantity	Unit	Rate	1	Amount
2/23	447	Engineering Technician	8	Hour	\$ 51.00	\$	408.00
		Engineering Technician - Overtime	2.25	Hour	\$ 76.00	\$	171.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/23	448	Concrete Compression Test	9	Each	\$ 17.00	\$	153.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/24	449	Senior Engineering Technician	4.75	Hour	\$ 65.00	\$	308.75
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/24	450	Report of Concrete Batch Plant Inspection	1	Each	\$ -	\$	_
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/24	451	Senior Engineering Technician	8	Hour	\$ 65.00	\$	520.00
		Senior Engineering Technician - Overtime	1.25	Hour	\$ 97.00	\$	121.25
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
	·	Project Engineer	0.25	Hour	\$149,00	\$	37.25
2/24	452	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$	-
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/24	453	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$	-
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/24	454	Rpt of Slurry Testing on Slurry Displacement	1	Each	\$ -	\$	-
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/24	456	Concrete Compression Test	9	Each	\$ 17.00	\$	153.00
		Project Engineer	0,25	Hour	\$149.00	\$	37.25
2/24	457	Engineering Technician	2	Hour	\$ 51.00	\$	102.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/24	458	Concrete Compression Test	9	Each	\$ 17.00	\$	153.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/25	459	Engineering Technician - Overtime	2	Hour	\$ 76.00	\$	152,00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$	20.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/27		Engineering Technician	3	Hour	\$ 51.00	\$	153.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/27	461	Concrete Compression Test	9	Each	\$ 17.00	\$	153.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25

AEC Project No.:

C121-16

Client: Fort Bend County

Fort Bend County Engineering Department

Invoice Date: 02/28/17

Invoice No.:

Date	Report No.	Description	Quantity	Unit	Unit Rate	1	Amount
2/28	462	Senior Engineering Technician - Min. Chg.	2	Hour	\$ 65,00	\$	130.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$	125.00
		Project Engineer	0.25	Hour	\$149.00	\$	37.25
2/28	463	Engineering Technician	2	Hour	\$ 51.00	\$	102.00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$	20.00
		Project Engineer	0,25	Hour	\$149.00	\$	37.25
					Total =	\$2'	7,872.50

Harris, Britten

From:

Peterson, Jillian

Sent:

Thursday, March 30, 2017 8:02 AM

To:

Harris, Britten

Subject:

FW: FM 1093 Aviles Eng Corp

Attachments:

20170308 RCVD Aviles Eng Corp Invoice 021730C - Approved.pdf

Jillian Peterson

Special Projects Coordinator Fort Bend County Engineering W. 281-633-7507 Jillian.Peterson@FortBendCountyTx.gov

ENGINEERING HAS MOVED TO 301 JACKSON STREET RICHMOND, TX 77469.

From: Vanessa Wallace [mailto:vwallace@pascorp.net]

Sent: Thursday, March 30, 2017 8:01 AM

To: Peterson, Jillian

Cc: Robert Dick; Mike Stone (MikeStone@MikeStoneAssociates.com)

Subject: FM 1093 Aviles Eng Corp

Jillian,

Attached is the approved invoice for further handling.

Thanks, Vanessa Wallace Contract Administrator C: 832-286-7984